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Question Number : 1 Question Id : 70819118934 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f e is the electronic charge, c is the speed of light in free space and h is Planck’s constant, the

e -
quantity ——— —— has dimensions of :
© o dmeg hic

Options:
f (
70819161951, M LTI

/ 1
70819161952. Ll

a7 0 )
70819161953, M LY T]

—~ =]
70819161954, 1L C ]

Question Number : 1 Question Id : 70819118934 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
f (
70819161951, M LTI

/ 1
70819161952. MLE

a7 070
70819161953, M’ L T]

1
70819161954, - C ]

Question Number : 2 Question Id : 70819118935 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A stone is dropped from the top of a building. When it crosses a point 5 m below the top,
another stone starts to fall from a point 25 m below the top. Both stones reach the bottom of
building simultaneously. The height of the building is :

Options :

70819161955, 42 m

70819161956, 25 m

70819161957, 32 M

70819161958, 20 m

Question Number : 2 Question Id : 70819118935 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819161955, 42 m

70819161956, 25 m

70819161957, 22 M

70819161958, 20 m

Question Number : 3 Question Id : 70819118936 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Asﬂmmofmdmsh%mdnmﬁ&ﬁrdhakmgahmﬁmﬁﬂphnowﬂhamﬂmuspmdqrh
encounters an inclined plane at angle 6 and climbs upward. Assuming that it rolls without
slipping, how far up the sphere will travel ?

@W :

Options:

70819161959, 28 sind

lj
7
5 g

70819161960, 28 Sin

IUUS
70819161961, /8 Sb



o |

en |k

g sinb
70819161962.

Question Number : 3 Question Id : 70819118936 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

=]

70819161959, 28 sind

.
7
. .

70819161960, -8 Sin

lﬂvﬁ

70819161961, /& Sinb

2
_%
g sinb

s

70819161962.

Question Number : 4 Question Id : 70819118937 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The point A moves with a uniform speed along the circumference of a circle of radius 0.36 m
and covers 30° in0.1s. The perpendicular projection’P’ from A’ on the diameter MN represents

the simple harmonic motion of ‘P, The restoration force per unit mass when P touches M
will be :

Options :
70819161963, 100 N

70819161964, 287 N

70819161965, 20 N

70819161966, 029 N

Question Number : 4 Question Id : 70819118937 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

45 R AT, 036 m IAPTHT @51 387 #474% Y Ferq oS F[E 9% .15 30° @FH Sy
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Options :

70819161963, 100 N



70819161964, °-87 N

70819161965. 20 N

70819161966, 029 N

Question Number : 5 Question Id : 70819118938 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Thermodynamic process is shown below on a P-V diagram for one mole of an ideal gas. If
V,=2V, then the ratio of temperature T,/T, is :

P1 1(Py, V1, Ty)

1
Py 2 =constant

2(Py, Vo, Ty)

Options :

70819161967.

70819161968. V2

b2 | =

70819161969.

I

70819161970.



Question Number : 5 Question Id : 70819118938 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@it o (a1 199 A 579 P-V teribae oy weieH efe oryean tare) aWeg V,=2V, I,
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Options :

=

70819161967.

70819161968. V2

b3 | =

708191619609.

I

70819161970.

Question Number : 6 Question Id : 70819118939 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  In a diatomic molecule, the rotational energy at a given temperature obeys
Maxwell's distribution.

Statement I :  In a diatomic molecule, the rotational energy at a given temperature equals
the translational kinetic energy for each molecule.

[n the light of the above statements, choose the correct answer from the options given below :



Options :
70819161971. Both Statement I and Statement 1l are true.

70819161972. Both Statement 1 and Statement 1l are false.

70819161973, Statement 1 is true but Statement 11 is false.

70819161974, Statement 1 is [alse but Statement 11 is true.

Question Number : 6 Question Id : 70819118939 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

70819161971, 5% 1 T &f& 11 512 7671

20819161972, 5% 1 =¥ &% 11 A e

20819161973, st 1 751 9= ©fs 11 fe

70819161974, 1® 1 = 5 B 115051 |

Question Number : 7 Question Id : 70819118940 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Two identical springs of spring constant ‘2k” are attached to a block of mass m and to fixed
support (see figure). When the mass is displaced from equilibrium position on either side, it
executes simple harmonic motion. The time period of oscillations of this system is :

e
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Options:

70819161975.

70819161976.

fm

am 1"|
70819161977. .

[ 1T

T\ 2K
70819161978. =

Question Number : 7 Question Id : 70819118940 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
m

2k
70819161975.



70819161976.

fm

am 1"|—
70819161977. .

[ 1T

VK
70819161978. =

Question Number : 8 Question Id

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 70819118941 Question Type : MCQ Option Shuffling : Yes Is

Y=Asin(wt + dy) is the time-displacement equation of a SHM. At t=0 the displacement of

A
the partidr_- is Y= = and it is moving along negative r-direction. Then the initial phase

r

angle by will be :

Options :

w4

70819161979.

5w
70819161980. ©

NE

70819161981.

70819161982.

Question Number : 8 Question Id

: 70819118941 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

~ - LA
<5 9 #19E AT -4 AANSH Y= A sin(wt+dg) | t=07FS, FNGE 70 Y = — ¢
% x- O 4TS e o SRR s I 6, 29 :

Options:
w
70819161979, °
5
70819161980, ©
w
70819161981, ©
2
a
70819161982.

Question Number : 9 Question Id : 70819118942 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A charge ’q' is placod at one corner of a cube as shown in t’igure. The flux of electrostatic field
—

E through the shaded area is :

AL

X

Options :

q
8¢9

70819161983.



q

70819161984, *£0

&)
70819161985.

q

24-‘."{}
70819161986.

Question Number : 9 Question Id : 70819118942 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
f5a® vy 831 4T, 51 T 5T @TE 5’ AW 34T 02T B AT (shaded) SATHR TTEH B
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Options :

q
8¢9

70819161983.

70819161984.

70819161985, = U



q

24Eﬂ
70819161986.

Question Number : 10 Question Id : 70819118943 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Andmtmrwﬂmhmﬂcmm%yK“mmﬁhmwmnpmﬂbIﬁMﬁofampmﬂmatmnmge
‘o’ with the plates. It leaves the plates at angle "B with kinetic energy K,. Then the ratio of
kinetic energies K T K’z will be :

Options :

: cosf3

70819161987, €05

cosfp

70819161988, Sina

sin ZB
cos’a

708191619809.

cos‘zﬁ

COSEE‘E

70819161990.

Question Number : 10 Question Id : 70819118943 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
G 1 TG #E qART TS TEd WS TOTId OIS *of Tl ¥4 K, -G b1 Zrarfr ecae
IACR| “MoRA e #@1 % K, offe-=fena g ta 3R g sfarm) afe e se K : K,
LE
Options :

'cnsl.%

70819161987, “95%




cosp

70819161988, SN

sin 2[3

COs5 o

708191619809.

cos‘zlﬂ

70819161990, "% ¢

Question Number : 11 Question Id : 70819118944 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a ferromagnetic material, below the curie temperature, a domain is defined as :

Options :

70819161991, 2 macroscopic region with zero magnetization.

70819161992. d MAacCroscopic region with saturation magneﬂzatmn.

70819161993 a macroscopic region with randoml}f oriented magnetic dipnles.

70819161994, & MAcroscopic region with consecutive magnetic dipoles oriented in opposite direction.

Question Number : 11 Question Id : 70819118944 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ab1 TE e Amdfe, Fa T (curie temperature) I T3 BT BTG A T
Options :

EEIEEE S ; . .
70819161991, =" 4% " WFE (macroscopic region) |



708191619972, 1 1& FIFRFA (saturation magnetization) €% F4 T4 (macroscopic region) |

20819161993 G EFEA ST (randomly oriented) e Blwd OF T T (macroscopic region) |

FATA  qefae e (@1 TIEM (oriented) 4 (5T e OF T T (macroscopic

70819161994, e8ion) |

Question Number : 12 Question Id : 70819118945 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An LCR circuit contains resistance of 110 () and a supply of 220 V at 300 rad/s angular
frequency. If only capacitance is removed from the circuit, current lags behind the voltage by
45°. 1 on the other hand, only inductor is removed the current leads by 45° with the apphed
voltage. The rms current ﬂnwmg in the circuit will be :

Options:

70819161995, 1 A

70819161996, 1.5 A

70819161997, 2 A&

70819161998, = &

Question Number : 12 Question Id : 70819118945 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

451 LCR F41®, 110 O 79148 =% 300 rad /s (9T T3 @3 220 V T ¥ wig) AWz
TENGIE 41 (9 AT STeqs fll 20, #2 [qeqeld 45° 41 #fF 991 =0 arel TE (FaE
@A (inductor) TTEAE T 27, #AE ATAH FAT ASAELF 45° T AL A1 TGADHA 4AZO
#2935 (rm.s) T 2T



Options :

70819161995, 1 A

70819161996, 1.5 A

70819161997, 2

70819161998, = &

Question Number : 13 Question Id : 70819118946 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The stopping potential for electrons emitted from a photosensitive surface illuminated by
light of wavelength 491 nm is 0.710 V. When the incident wavelength is changed to a new
value, the stopping potential is 1.43 V. The new wavelength is :

Options:

70819161999. 309 nm

70819162000, 329 nm

vl
70819162001, J02 nm

70819162002, 400 nm

Question Number : 13 Question Id : 70819118946 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

491 nm RGTT (AZEA NS F1 G4 TEF FTI0 P4 A1 75T g feama-
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Options :

70819161999. 309 nm

70819162000, 329 nm

V.
70819162001, ~02 nm

70819162002, 400 nm

Question Number : 14 Question Id : 70819118947 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the diffraction pattern obtained from the sunlight incident on a pinhole of diameter
0.1 um. If the diameter of the pinhole is slightly increased, it will affect the diffraction pattern
such that :

Options :

70819162003. s s1Zze InCreases, and IIIT.C‘I'[SIT.}" INCreases

70819162004 its size increases, but intr:-nsit}-' decreases

70819162005. its s1ze d[‘CI‘DiﬂSC‘S, but I.I'IT.C'I‘ISIT.}-' IMcreases

20819162006. its size decreases, and intensity decreases

Question Number : 14 Question Id : 70819118947 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0.1 wm TPIET b1 FRTZIES (pinhole) W=ToE 02 TG Tevfm a1 Geaee breTeq SHZae (enal
3’7 | Iz FRIEEeE AP RIS AGE T, 3 WG Siead Aede F A0

Options :



20819162003, 2 WA 3 A, WE Siq@ 3 # |

70819162004, 3 ST 9 =13, fom Siger 219 13|

20819162005. T WFE I A, [ Tger e |

20819162006, 23 AT ZFT A, SF SN ZPT 7|

Question Number : 15 Question Id : 70819118948 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An electron of mass m, and a proton of mass mp =1836 m, are moving with the same speed.

8
The ratio of their de Broglie wavelength “electron iy pe

Aproton
Options :

70819162007.

70819162008, 1836

70819162009, 1836

70819162010. 218

Question Number : 15 Question Id : 70819118948 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



m, B39 51 ARG IF m, =1836 m, T &5 o' 6T v whow ofe 4 ww) FEw v

Me

L
—a

AL TS 27

‘-i"fm..
Options :

70819162007.

70819162008, 1836

70819162009, 1836

70819162010. 218

Question Number : 16 Question Id : 70819118949 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The wavelength of the photon emitted by a hydrogenatom when an electron makes a transition
fromn=2ton=1 state is :

Options:

70819162011, 121.8 nm

70819162012, 1948 nm

20819162013, 190.7 nm

70819162014, 913.3 nm

Question Number : 16 Question Id : 70819118949 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



451 3TAFGE n=2 %44 44 n="1%H (T4 RF (transition) T AT b 2138 (5 *ATNE *
fefe bt 775" Taeew 27

Options :

70819162011, 121.8 nm

70819162012, 194.8 nm

70819162013. 490.7 nm

70819162014, 9133 nm

Question Number : 17 Question Id : 70819118950 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If a message signal of frequency ’f, " is amplitude modulated with a carrier signal of frequency
'f. and radiated through an antenna, the wavelength of the corresponding signal in air is :

Options :
C

70819162015. fe = fo

C

70819162016. fe * fm

C

70819162017. e

C

70819162018. fm

Question Number : 17 Question Id : 70819118950 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
f,), FEOREE @1 A LIS f, TN 1 TF LA (N [ Tl 1 (27, A
GO (T AT TR F4 (2| S (corresponding) TSITHE AT T 27

Options:
C

70819162015. fe = Jm

C

70819162016. fe t fm

L

70819162017.j;

C

70819162018.'ﬁ”

Question Number : 18 Question Id : 70819118951 Question Type : MCQ Option Shuffling

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For extrinsic semiconductors; when doping level is increased;
Options :

Fermi-level of p-type semiconductor will go upward and Fermi-level of n-type
70819162019 semiconductors will go downward.

Fermi-level of p-type semiconductors will go downward and Fermi-level of n-type

20819162020. semiconductor will go upward.

20819162021 Fermi-level of p and n-type semiconductors will not be affected.

Fermi-level of both p-type and n-ty pe semiconductors will go upward for T > TF K and

downward for T < TF K, where TF is Fermi temperature.
70819162022.

:Yes



Question Number : 18 Question Id : 70819118951 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

52w weferfaasa ana; Afen cufeed @ p1s =7
Options :

708191620109. p‘g- i Eﬁf‘ a\ﬂ %Q ﬁ‘@a @ﬁﬂﬂ'ﬂ I HIF n-Tra] Wﬁ?ﬁﬁ@i mw IO |

20819162020, PO FRARAR -7 FTMCY T F - STOM SRR FeT agee |

20819162021, P-=F n-ETOR SHARAR FIH-FTS (I 2T 3|

T> T K3 30 p- &7 OF n-STeR 57 G421 F11-39 Tegre a0 9% T< T, K3 303

; 'S5 T. B9 (F E
20819162072, T84 T, T'E Ty FF T (Fermi temperature) |

Question Number : 19 Question Id : 70819118952 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List I with List II.

List 1 List 1I
(a)  Rectifier ()  Used either for stepping up or stepping down the a.c. voltage
(b) Stabilizer (i) Used to convert a.c. voltage into d.c. voltage
(c) Transformer (i) Used to remove any ripple in the rectified output voltage
(d) Filter (iv) Used for constant output voltage even when the input voltage

or load current chang,e
Choose the correct answer from the options given below :

Options :
70819162023, (@)-(i), (b)-(i), (c)-(iii), (d)-(iv)

70819162024, @) (i), (B)-(iv), (c)-(1), (d)-(iii)



70819162025, (@)-(i), (b)~(i), (c)-(iv), (d)-(iii)

20819162026, @ (i), (b)-(iv), (c)-(1), (d)-(i1)

Question Number : 19 Question Id : 70819118952 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
oifer®t - [ 7 (I Siferdt - 11 (e

ol - 1 Siferat - 11

(a) T (i) @S o= 39T T IPHER A TS T

(b) BREIEA (Stabilizer) (i) =8 qared FHGaEl 22 Tl I A IS
=

(c) T (iii) 37 e WSGAD faeaq ACFT S (ripple) WTeare
AT TS A

(d) 5/ (Filter) (iv) %[5 a9 a1 load 2@1@A (current) T F@S F@
WG e e AT TWTE A

CactcreRuic fue frnknf

Options:

70819162023, (@)-(ii), (b)-(i), (c)-(iii), (d)-(iv)

70819162024, @)-(i), (B)-(iv), (c)-(1), (d)-(iii)

70819162025, (@)-(), (b)-(i), (c)-(iv), (d)-(iii)

20819162026, @ (i), (b)-(iv), (c)-(1), (d)-(i1)

Question Number : 20 Question Id : 70819118953 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The truth table for the follnwing If}g ic circuit is :

Ae }

=
B e o
Options:
A B ¥
0 0 0
0 1 1
1 0 1
1 1 0
70819162027.
A B Y
0 0 1
0 1 0
1 0 0
1 1 1
70819162028.
A B L'
0 0 1
0 1 0
1 0 1
1 1 0
70819162029.
A B ¥
0 0 0
0 1 1
1 0 0
1 1 1

70819162030.



Question Number : 20 Question Id : 70819118953 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

weTe WA AfGre TSACHE A GUCHIA 279

Ae }
Be }

Options :
A B Y
0 0 0
0 1 1
1 0 1
1 1 0
70819162027.
A B ¥
0 0 1
0 1 0
1 0 0
1 1 1
70819162028.
A B Y
0 0 1
0 1 0
1 0 1
1 1 0
70819162029.

70819162030.



A B Y

0 0 0

0 1 1

1 0 0

1 1 1

Physics Section B

Section Id : 708191803
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Section type : Online
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Sub-Section Number : 1
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Question Number : 21 Question Id : 70819118954 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two particles having masses4 g and 16 g respecttvol}-' are moving with oqual kinetic energies.
The ratio of the magnitudes of their linear momentum is n : 2. The value of n will
be _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819118954 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T 4512 IF 16 612 T4 G I3 T sfe-afam ofE 3w Wz FEwe (e saesd e
S n:27, nITGZT |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819118955 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The initial velocity v, required to project a body vertically upward from the surface of the
earth to reach a height of 10R, where R is the radius of the earth, may be described in terms

s : x LT
of escape velocity v, such that o; = ||— < vg. Thevalue of xwillbe .

\y
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819118955 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
A{f9@7pa # T 10R THE A1, T TR #[f0@7 TPTY T, b TS ATERR AT AAGT

_
5 - - X

HAIEF T4 0, F, “BT (301 0, TN AT 4T T A 0; = ‘u'l_ X 0| x3W
)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819118956 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The percentage increase in the speed of transverse waves produced in a stretched string if
the tension is increased by 4%, willbe %,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819118956 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
FCZ 5T 4% 512 WAl 7, GTE MRS 98 (string) © TLeH (I AT TR WA A0 I

%73
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819118957 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

IfPxQ=0Qx P, theanglebetween P anda is B (0° < 0 < 360°). The value of ‘0" will be

b

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819118957 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
W pPxQ=QxP Ftﬂ"@a 3T FE 0 (0° < 0 < 360°) | ‘Y T AW T
2
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 25 Question Id : 70819118958 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A reversible heat engine converts one-fourth of the heat input into work. When the
temperature of the sink is reduced by 52 K, its efficiency is doubled. The temperature in
Kelvin of the source willbe

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819118958 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A5 SRS el FYT 4121 T O GF GgefieH T o @ FA1 (R FAR T 52K I
39 T, T TR G5 TWA| (A GIFS A FAG O |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819118959 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two small sphoros each of mass 10 mg are susponded froma point b}-‘ threads 0.5 m Inng.
They are equally charged and repel each other to a distance of 0.20 m. The charge on each of

: d -8 e
the sphere is 1 X 10 °C. The value of ‘a’ will be

[Given g =10 ms 2]



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819118959 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

45 7 1 =T 10 mg S99 751 7% (51 0.5 m TR T[OR TS STAMIZ 991 (2% {ALE
T KA SIS 91 (208 WF 20008 P 0.20 m FE0A CofFt #0sre| «(ferh! oiees <

e A _Jil X0 aamwmYT
[%ﬂ'm :g=10ms 2]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 27 Question Id : 70819118960 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two identical conducting spheres with negligible volume have 2.1 nC and 0.1 nC charges,
respectively. They are brought into contact and then separated by a distance of 0.5 m. The
electrostatic force acting between the spheresis __ x10 IN.

1
[Given : 4meg= —— Sl unit]
9x 10
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819118960 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T I T3 A5 TG ARAD IAFS 2 Y ARTH T 2.1 nC TF 0.1 nC |
TAGTE A4 H1F =5 FAE (2% 9F 99 TGS 05 m @A 07 a4 0 (o) qry
(5T TS fam F Fes e @ s x1079 N

[ R 2 dmre, = ﬁSI 479]

A,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819118961 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The poak electric field producc-d b}-‘ the radiation coming, from the 8 W bulb at a distance of

ik ~ ¥
. X [wpc : S g : )
10mis E \’ 0 — . The efficiency of the bulb is 10% and it is a point source. The value of
T m "

xis___ .
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819118961 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

@B 8 W T3 1 10 m ¥, 3R @ 9z AR +@1 Teom @ e owad A T (peak
x figc V ,
electric field) % L/l | A D 10% TF 3 G5 T Tew (pointsource) | xIIFZT
™ m

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819118962 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A current of 6 A enters one corner P of an equilateral triangle PQR having 3 wires of resistance
2 () each and leaves by the comer R. The currents ; iInampereis

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819118962 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

FEfeTShr AT ACTICHTS 2 ) (AXFT O 47 <51 FHAE [I9% PQR 7 P [FIS 6 A T 43 [ 2412
HT FEE TIF R @A 3 4B AT 94 i, ampere §FFS |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819118963 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The wavelength of an X-ray beam is 10 A. The mass of a fictitious particle having the same

F " x - "
energy as that of the X-ray photons is ;h kg. The valve of x i8 . . ..

(h=Planck’s constant)



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819118963 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A5 G PG TRATRT 10 A | OFE F5'W OO G133 e G FEE@ (fictitious) FE

X
WW hkg | xITMETI___ (h=0T &) |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
Section Id : 708191804
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80



Mark As Answered Required?: Yes

Sub-Section Number : 1
Sub-Section Id : 7081911084
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819118964 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which among, the fol[nwing species has unequal bond Iengt_hs ?

Options :

K0F4
70819162041.

SiF,
70819162042.

70819162043. =y

BE,
70819162044,

Question Number : 31 Question Id : 70819118964 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FrfEe (FHT 4919 (species) SPTI ATH U] @R 2

Options:

Xe 4
70819162041.

SiF,
70819162042.

70819162043. s



B
70819162044.

Question Number : 32 Question Id : 70819118965 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solubility of Ca(OH), in water is :
[Given : The solubility product of Ca(OH), in water=>5.5x10"9]

Options :

I

70819162045, 1-11x10

70819162046, 1-11* 10 —©

=2

70819162047, 177 %10

70819162048, 1-77 x10

Question Number : 32 Question Id : 70819118965 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
“#1re Ca(OH), 9 @7 :
[fra =, #@T® Ca(OH), T @ATel 9feRFa =5.5 x 10~ €]

Options :

[iB*)

70819162045, 1.11x10

70819162046, 1-11%10°°

I3

70819162047, 1-77* 10



70819162048, 1-77 %10 6

Question Number : 33 Question Id : 70819118966 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the fnllnwf_ng statements is FALSE for h}-'dmphﬂic sols 7

Options :
70819162049, Ihey do not require electrolytes for stability.

70819162050. These sols are reversible in nature.
70819162051, Their viscosity is of the order of that of HZD.

70819162052. The sols cannot be easily coagulated.

Question Number : 33 Question Id : 70819118966 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
GEASANE 59 A10q WS (e OhE STe 9

Options :
20819162049, PRE® fEaom ana v e 72

20819162050, ‘2 FACAR HEad! o
70819162051, 2o &Sl H,O 9 Arareq 7iq

70819162052, P FELE T FE #[a1 TH



Question Number : 34 Question Id : 70819118967 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of bond dissociation enthalpy of halogens is :
Options :
70819162053, [27 € B> Ly

70819162054, 12~ Broa> (> Fy

70819162055, —12” Bra” F> I

CL>F,> Br,> 1,
70819162056. = -~ e o

Question Number : 34 Question Id : 70819118967 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(T T AR A G wE T -
Options:

70819162053, 127 Cl> Bro> I

70819162054, 12~ Bra> (> Fp

70819162055, 27 Br> B> 1

CL>F,>Br,>1,
70819162056, 2 27 T2 2

Question Number : 35 Question Id : 70819118968 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The method used for the purification of Indium is :
Options :
70819162057, Van Arkel method

70819162058, duation

70819162059, Zone refining

70819162060. vapour phase refining

Question Number : 35 Question Id : 70819118968 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Options :

70819162057, O NP Tl

70819162058, 5@

70819162059, =& THd«

70819162060, I °1 T<ET TR

Question Number : 36 Question Id : 70819118969 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Water does not produce CO on reacting with :
Options :

70819162061. =y

70819162062, €

I

O,
70819162063.

C,H,
70819162064.

Question Number : 36 Question Id : 70819118969 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
#Ted 19 C70e T B4 CO T#fa 19T -
Options :

70819162061. S

70819162062, €

o,
70819162063. =

C,H,
70819162064.

Question Number : 37 Question Id : 70819118970 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
Statement 1 :

aand 5 forms of sulphur can change reversibly between themselves with slow heating or
slow cooling.

Statement I :
At room temperature the stable crystalline form of sulphur is monoclinic sulphur.

In the light of the above statements, choose the correct answer from the options given below :

Options :
708191620665. Both Statement | and Statement 1l are true.

70819162066. Both Statement I and Statement Il are false.

70819162067. Statement 1 is true but Statement 11 is false.

70819162068. Statement 1 is false but Statement 11 is true.

Question Number : 37 Question Id : 70819118970 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 7 e T T -

e 1.

o -EFIR TF [ - TEREE F PReA THS A2 ACZ AN A ANG AL Y FA ARG
sffaqde Faq #I14 |

¥ 1l

TP SRS, TAFEA NET HHF FO05 A T B T |

SHATE ST WHAS, S T A4 W Seas] FA F47 |

Options:

70819162065, ¥f& | wre e 11 qeam T

20819162066, 1S 1| T S 11 TIGT wpTer

20819162067, 9% 1 7191 5@ ©f& 11 =prey



20819162068, fs | = 9= Ofs 11 797

Question Number : 38 Question Id : 70819118971 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major components of German Silver are :

Options :

70819162069, U Zn and Ag

70819162070, <u- Zn and Ni

70819162071, C¢ Cuand Ag

70819162072, 2 Niand Ag

Question Number : 38 Question Id : 70819118971 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

S feeedd 37 TAWeEaE 25 -
Options:

70819162069, CW Zn T Ag

70819162070, Cu, Zn S Ni

70819162071, ©& Cu =¥ Ag

1 EHF ;
70819162072, 2 NI =TF Ag



Question Number : 39 Question Id : 70819118972 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In which of the following order the given complex ions are arranged correctly with respect
to their decreasing spin only magnetic moment ?

(i) [FeFgP™ (i) [CoNHz)P* (i) [NiCl*~ (iv) [Cu(NHj)P*
Options:
70819162073, (1) > (iii) > (iv) > (ii)

70819162074, 1) > (i) > () > (iv)

70819162075, (Hi) > (v) > (if) > (3

70819162076, (1 > () > (iii) > (iv)

Question Number : 39 Question Id : 70819118972 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e (@ @ B TRaTEd (complex) FREA TR IR ENET ¢qe e I w9
GYFTG AHE (FE 7
(i) [Ftl'l—"ﬁ]3 (i) [CO(NHE]ﬁP b (i) [NiC[4]2 (iv) [CU{NH3]4]2 .

Options :
70819162073, (1) = (iii) > (iv) > (ii)

70819162074, (1) > (iii) > (i) > (iv)
70819162075, (1) > (iv) > (i1) > (1

70819162076, 1 > (1) > (iii) > (iv)



Question Number : 40 Question Id : 70819118973 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :

The pH of rain water is normally ~5.6.

Statement 11 :

[f the pH of rain water drops below 5.6, it is called acid rain.

[n the light of the above statements, choose the correct answer from the options given
below :

Options :
70819162077. Both Statement I and Statement 1l are true.

70819162078. Both Statement | and Statement 1l are false.

70819162079. Statement 1 is true but Statement 11 is false.

70819162080. Statement 1 is false but Statement 11 is true.

Question Number : 40 Question Id : 70819118973 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TES §o! O fra 2 -

e 1!

YT AT pH ARETS ~5.6,

& 11

W qqgeE #I1q pH 5.6 © (F Sl TR, 3ASF (T 20 fRs 97 |
SIS e wewe, e Tae a1 ws Ten 5 a4 -

Options :

70819162077, 1% 1 e Bf& 11 FCamT 577



70819162078, o1& 1 O Tf& 11 FLam! wrvey

20819162079, I1% 17791 2 Tf& 11 wprey

20819162080, '@ 1 T % &% 11 7oy

Question Number : 41 Question Id : 70819118974 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following cnmpound is added to the sodium extract before addition of silver
nitrate for testing of halogens ?

Options :

70819162081. Hydrochloric acid

70819162082, Sodium hydroxide

70819162083, [Vitric acid

70819162084, AAmmonia

Question Number : 41 Question Id : 70819118974 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TE 1o AT A3, oA WA (e A WS EEed (I 9 B T wHEe @l
AR

Options :

70819162081, 225 T AfET



70819162082, % 'GAH ZRGHZE

70819162083, 25® @ZT

70819162084, ‘I

Question Number : 42 Question Id : 70819118975 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major pmduct of the ff}Hnwf_ng reaction is :

NO,
P
r o
H,50,
Options :
NO,
70819162085. @></
NO,
70819162086.
NQO,
70819162087. @/\)\
NO,

70819162088 @)Y



Question Number : 42 Question Id : 70819118975 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wers fran e 27 AT o -
NO,
/I‘\/
-
H,50,
Options :
NO,
70819162085.

70819162086

: | o,
NO,
70819162087. @/\)\

70819162088

Question Number : 43 Question Id : 70819118976 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The major pmduct of the foﬂnwing reaction is :

Ho/CO
Rh cata]}-'st

Options :

70819162089. 3

70819162090. 322

70819162091, CHaCHCH=CH—CHO

CH,CH,C==CH,

70819162092. CHO

Question Number : 43 Question Id : 70819118976 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H,/CO
Rh S€0s

Options :

70819162089.

70819162090. 322

70819162091, —TiacHCH=CH—CHO

CH,CH,C==CH,

70819162092. CHO



Question Number : 44 Question Id : 70819118977 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct sequence of reagents used in the preparation of 4-bronm-2-nif_moth}fl benzene
from benzene is :

Options :

20819162093, —H13COC/ AlCl;, Bry/ AlBrs, HNO3/HSO, Zn/HCI

20819162094, CH,COCL/ AlCl,, Zn-Hg /HC], Br,/AlBr,, HNO,/H,50,

70819162095, Br2/ AlBry, CH,COCI/ AICL, HNO,;/H,S0,, Zn/HCI

20819162096, HNO3/HyS0y, Bry/ AlCly, CH;COCI/ AlCl,, Zn-Hg/HCI

Question Number : 44 Question Id : 70819118977 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e o1 49T -2- 85 B (e e wa e SWH 2 -
Options:

70819162093, “HaCOCI/ AlCly, Bry/ AlBrs, HNO,/HS0, Zn/HCl

70819162094, CH,COCl/ AlCl,, Zn-Hg/HCI, Br,/AlBr,, HNO,/H,50,

70819162095, Br2/AlBrs, CH,COCI/AICL, HNO,/H;S50,, Zn/HC

20819162096, HNOs/H,SO,, Br,/AICL,, CH,COCI/AICL,, Zn-Hg/HCI

Question Number : 45 Question Id : 70819118978 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of acid character of the [ OHD‘WiI‘lg compnunds isg :

OH COOH COOH COOH
NO; CH,
I I 111 IV
Options :

70819162097, 1= 11> HI>1V

70819162098, I =M >1>1V

70819162099, 1> Il >V >1

70819162100, 1V > HI> 11 >1

Question Number : 45 Question Id : 70819118978 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TATS T CSTATT SATHFel AT ©F A0 2 e -

OH COOH COOH COOH
NO, CHj
l 1 111 IV
Options:

70819162097, 1= 1= HI>1V



70819162098, I > >1>1V

70819162099, 1> Il >V >1

70819162100, 1V > HI> 11 >1

Question Number : 46 Question Id : 70819118979 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
What is ‘X’ in the given reaction ?
CH,OH

+ oxalic acid L X

CH,OH (major product)

Options :
CHO

70819162101. SHE

CH,OH

70819162102. e

T_|“'f 1,

70819162103. S

CH—OH

|
CH,
70819162104.

Question Number : 46 Question Id : 70819118979 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
#78 RfEAEe ‘X & 7

CH,OH :.
| +eafe oty 2100C
CH,0OH (327 fafesameng
w12
Options :
CHO

70819162101, <HO

CH,OH

70819162102. e

T_|“'f 1,

70819162103. CHy

(”_'H—DH

CH
70819162104.

Question Number : 47 Question Id : 70819118980 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

NH, NH, NH, NH,

HNO;, H,S0,
288 K

- + +

NO,

(A) (B) (C)
Correct statement about the given chemical reaction is :

Options :



70819162105. ) is not possible.

70819162106, Reaction is possible and compound (B) will be the major product.

20819162107 The reaction will form sulphonated product instead of nitration.

Reaction is possible and compound (A) will be major product.
70819162108.

Question Number : 47 Question Id : 70819118980 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NH, NH, NH,
HNO;, H25D4 :\IOZ
288 K
\102
™’ (©)
?vE IS e 9T wE B -
Options :
—NH, 5 T4 o® (777 R, CTATE STow (B) 7ed 727 |
70819162105. 2
70819162106, | JERIC! & W T4 (B) (B 937 Rfamrers A |

70819162107, 2 Hetlel RO gor s RfErers e Teore a |

20819162108, IERIC! T84 S Tqol (A) 47 faferarems #rwief |

Question Number : 48 Question Id : 70819118981 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Carbylamine test is used to detect the presence of primary amino group in an organic
compound. Which of the following compound is formed when this test is performed with
aniline ?

Options :
NHCHj;

708191621009.

70819162110. :

CN

NC

70819162111.

CONH,
70819162112. :::

Question Number : 48 Question Id : 70819118981 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

451 t5a (HIe 0@ AR GNS Rute SR S FrEaETne “aw @ 39 % | @t
4% TG CFEE AeTS ToE 27 (Sew MEEE @ (@ TeAm T’ 0

Options :

NHCH;
70819162109. :i:

CN
70819162110. ::::



NC

70819162111, :
CONH,
70819162112. :

Question Number : 49 Question Id : 70819118982 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the ff}llowing is correct structure of w-anomer of maltose ?

Options :
CH,OH CH,OH
H 0o H H O. H
< H
H H H H
HO OH
70819162113. HO  OH HO  OH
H
<
HO
70819162114.
CH,OH CH,OH
H —0_H H — 0O B
H
OH H )_|<'JH H
HO OH
70819162115. H OH H  OH

70819162116.



CH,OH CH,OH

H o R | H +—0 OH
H H
H H H H
HO H

OH OH HO OH

Question Number : 49 Question Id : 70819118982 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T% & -G q W5, 515 foafetaed foeae @es ?

Options :
CH,OH CH,OH
H O _ H H 0. H
H b
H H H H
HO OH
70819162113. HO OH HO OH
Il
&
HO
70819162114.
CH,OH CH,OH
H . b——0. H H 0O H
H
OH H )_|<le H
HO OH
70819162115. H  OH H OH
CH,OH CH,OH
H +—0_H H —0O OH
H H
H H H H
HO H
OH OH HO  OH

70819162116.



Question Number : 50 Question Id : 70819118983 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :

The identification of Ni2* is carried out by dimethyl glyoxime in the presence of NHiDH.
Statement 11 :

The dimethyl glyoxime is a bidentate neutral ligand.

In the light of the above statements, choose the correct answer from the options given below :
Options :

70819162117, Both Statement I and Statement 1l are true.

70819162118. Both Statement | and Statement 1l are false.

708191621109. Statement 1 is true but Statement 11 is false.

70819162120. Statement 1 is false but Statement 1l is true.

Question Number : 50 Question Id : 70819118983 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ef&1:
Ni2+q f5r&sae 41 20 NH,OH 9 T+ifgfow wafze aizesnes o |
wfE 11

TRAIZE ARSSeN b1 fargE SR Eene (ligand)|
SHATE T e, Tee WAl [AFsE 4 wEm 8T 5H 41 |
Options :

20819162117, S1® | O Bf& 11 FCGT 7o



20819162118, B 1 o Tf& 11 FCaGT Prey

70819162119, & I @7 fom Bf& 11 =prer

20819162120, 51& 1 =PT91 2 Bf& 11 77o1

Chemistry Section B

Section Id : 708191805
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911085
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819118984 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider titration of NaOH solution versus 1.25 M oxalic acid solution. At the end point
following burette readings were obtained.

(i) 45mL (i) 4.5 mL (i) 44 mL

(iv) 44 mL (v) 44 mL

If the volume of oxalic acid taken was 10.0 mL then the molarity of the NaOH solution is
_ M. (Rounded-off to the nearest integer)

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819118984 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
4, S NaOH %@@ 39 (VS) 1.25 M SJs % ad| (<9 e e 3035 #10 ¢on 9|

(i) 45mL (i) 4.5 mL (i) 4.4 mL

(iv) 44 mL (v) 44 mL

T s o e 10.0 mL (T C2feE, (OrEA NaOH & 'aifdls M ©
(b = 7ea)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819118985 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The unit cell of copper corresponds to a face centered cube of edge length 3.5% A with one
copper atom at each lattice point. The calculated density of copper in kg/ miis

[Molar mass of Cu : 63.54 g ; Avogadro Number=6.022 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819118985 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

N GFF (I 1 JPFET T GFF (P, TS W16 (7T 3,59 A TF 202 FoE 7o <y
T Y AF | F AR TG kg /m’ © T F |

[T/ ©9 Cu I=63.54 g ; 9T HeAqM=6.022% 107]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819118986 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Electromagnetic radiation of wavelength 663 nm is just sufficient to ionise the atom of metal
A. The ionization energy of metal A in k] mol lig. . (Rounded-off to the nearest
integer)

[h=6.63x10 M Is, €=3.00 x 108 ms 1, N, =6.02 % 105 mol l]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819118986 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

415 A T 4@ TS FI9 FAT 663 nm TSR TH FIaT AT WW T | 4T A T
GEAFE @ kfmol "1 TA | (Whad e HeAta)

[h=6.63x10"3]s, ¢=3.00x108 ms~1, N, =6.02x 105 ¥'a 1]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819118987 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Five moles of an ideal gas at 293 K is expanded isothermally from an initial pressure of
2.1 MPa to 1.3 MPa against at constant external pressure 4.3 MPa. The heat transferred in
this processis ___kJmol~1, (Rounded-off to the nearest integer)

[Use R=8314 ] mol~ K]
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819118987 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4.3 MPa %3 A5 51#f®, <1 W 75124 5 mole 293 K S%@T® 2.1 MPa 4R 5@ 41 1.3 MPa
BI#{LF TCARRSNE FEPIAE 31 28 | 3 AEAS Toom (T O FAEa k] mol ! «FFE TF
_____ _| (fFrbew we 7eee)

[A924 1 R=8.314 | mol~1K~1]



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819118988 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If a compound AB dissociates to the extent of 75% in an aqueous solution, the molality of the
solution which shows a 2.5 K rise in the boiling point of the solutionis _______ molal.
(Rounded-off to the nearest integer)

[K;, =0.52 K kg mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819118988 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

W BT (9T AB Al TS 75% {A RS 24, FaE A A Seasdd 2.5 K Tum (rEm,
27 Tam (Fehet we Ame)

[K, =052 K kg mol 1]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 56 Question Id : 70819118989 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Copper reduces NO, into NO and NO, depending upon the concentration of

HNO, in solution. (Assuming fixed [Cu®*] and Py, = sz], the HNO, concentration at

which the thermodynamic tendency for reduction of NO, into NO and NO, by copper is

same is 10" M. The value of 2x is . (Rounded-off to the nearest integer)
Tty . 0 L T : ‘0 - r xT : ‘D =t r T :
[Given, E(:uh/(:u 034 V, E?\IDUT\ID 096 V, E?\IDUT\IOE 0.79 V and at 298 K,

% (2.303)=0.059]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819118989 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

7% HNO, 7 9Tperd 8#qe foféd 3 374173 NO, 3 NO o1& NO, 01 feiqe a1 (44 e

feff® [Cu?*] W% Py, =Py,), HNO, 7 ff¥g 45@, '8 NO; W@ NO R NO, & e
I F 199 TP 21 A, TA 10°M | 2 I T A | (Frebew w4 RUTE)
. N II.U _ 'Il.U =07 HE ? [
[ nfe, By 034 V. Eos o =098 V. EL s o, <070V IF 288 K,
RT

5 (2:303)=0.059]

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819118990 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The rate constant of a reaction increases by five times on increase in temperature from 27°C
to 52°C. The value of activation energy in k] mol R (Rounded-off to the nearest
integer)

[R=8.314] K~1 mol -]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819118990 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

S8 27°C T @ 52°C (7 I% A AEMGR e e T A 90 g A ofea =
kKfmol 1w | (Febew wde Aeeme)
[R=8314] K1 mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819118991 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Among the following, number of metal/s which can be used as electrodes in the photoelectric
cellis . (Integer answer)

(A) Li (B) Na (C) Rb (D) Cs
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819118991 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

e [MAEEE, T4 TS (P LA, © BT I9%9 I A9 e A v
(T@q T 7eTe)
(A) Li (B) Na (C) Rb (D) Cs

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819118992 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The spin only magnetic moment of a divalent ion in aqueous solution (atomic number 29) is
__ BM.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 59 Question Id : 70819118992 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

7 FTS I T FERE G AW 5 S WA (AR A 29) W
BMT |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819118993 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of compound/s given below which contain/s —COOH group is
(Integer answer)

(A) Sulphanilic acid (B) Picric acid

(C) Aspirin (D) Ascorbic acid

Response Type : Numeric
Evaluation Required For SA: Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 60 Question Id : 70819118993 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

ware fr (@ foeae R —COOH T/% a2 a4, TR el | (o ey Twqe)
(A) TS ORE @®) PrieE aee
(C) «xfifa (D) ¢=3'THT ¢few

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A
Section Id : 708191806
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1

Sub-Section Id : 7081911086



Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819118994 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 o -
If for the matrix, A = { lﬂﬂ , AAT=L,, then the value of o? +p%is:
o

Options :

70819162131, 4

70819162132.

2
70819162133. ~

70819162134, °

Question Number : 61 Question Id : 70819118994 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= 1 —a "
qﬁ;x:{ gﬂ,ﬁhﬁﬁﬁﬁﬁTﬂﬂﬁl=hﬁiﬁﬁﬁ&ﬁ|ﬁ4ﬁ?ﬂﬁﬁ:
o o

Options :

70819162131, 4

70819162132, !

2
70819162133. ~

70819162134, 3



Question Number : 62 Question Id : 70819118995 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A be a 3 %3 matrix with det(A)=4. Let R, denote the it row of A. 1f a matrix B is
obtained by performing the operation R, — 2R, +5R, on 2A, then det(B) is equal to :

Options:

70819162135, 1°

70819162136, 50

70819162137 ©%

g
70819162138. e

Question Number : 62 Question Id : 70819118995 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@125 A 6D 33 R (TAT® AF det(A)=4| RTAAT i WAAZAR, | 3K 2A (owwe
R, — 2R, + 5R, A& &St 314 @it (e B TR T, (B08 det(B) T W 24 :
Options:

70819162135, 1°

70819162136, 5

70819162137, °4

>
70819162138, 128



Question Number : 63 Question Id : 70819118996 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The following system of linear equations
2x +3y+2z=9
3x+2y+2z=9

x—y+4z=38
Options :
70819162139, does not have any solution

70819162140, has a unique solution

70819162141, has infinitely many solutions

70819162142. has a solution («, 3, v) satisfying o [53 I 1.13 =12

Question Number : 63 Question Id : 70819118996 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :

70819162139, CFT AR AL

70819162140, 90" FEO TR S|

70819162141, I TCATF AL ATE|

(o, B, y) @51 TN & o« + P2+ =12 F g T3
70819162142.



Question Number : 64 Question Id : 70819118997 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

m
If I, = Icnt”x dx, then :
m
4
Options :
1 1 1
T Ph AN AW E are in A.P.
70819162143, 2 4 3 73 "4 776
20819162144, IZI I__1r I3 [ 15, I;1 [ I{.J are in A.P.
1 1 1 il
’ ' are in X g
70819162145, 12 Pl I3 tls latle
I,+1,, (I. +1=)% 1, + I are in G.P.
70819162146, > * (st 1o latls

Question Number : 64 Question Id : 70819118997 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

aw I, = [cot™x dx, Terg :

=l e

T’ A.P. TG AIFE 45if@ |
G.P. T Bremag #eife)

Options :
1 1 1

I, +14 " Ig +15" Iy +1g

F

, AP. T AqCF|
70819162143.



L+, L+, [, + L., AP. © 9|
70819162144, 2 o I3 tls Ly tls, AP. O

1 1 1
, , GP. T AT
RS

I+ 8 Ia *I
70810162145, 0 e ek e

L+1, (+L)72 I, +1 , GP.© 4|

70819162146.

Question Number : 65 Question Id : 70819118998 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X

A function f(x) is given by f(x) = , then the sum of the series

5*+5
f] f] f] ....... |f{§2\
.20 20 ) 20 ) \ 20 )
is equal to :
Options :
29
2
70819162147.
E)
i
70819162148.
39
.
70819162149.
19
2

70819162150.



Question Number : 65 Question Id : 70819118998 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

#%'f{ S f(x) B =,
" F 45
ACTAC fi 20 ) | ju | 1 Rl i fi,u |tﬂﬁﬁiha$ﬁfﬁ 7’7 ;
Options :
29
2
70819162147.
49
0
70819162148.
39
2
70819162149.
19
T
70819162150, ©

Question Number : 66 Question Id : 70819118999 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

— aig~2s

Let a.and P be therootsof x2— 6x— 2= 0. Ifa =a™-p"forn = lthenﬂmvalueotM
Jdg

15

Options :

70819162151, *

70819162152, °



2
70819162153.

70819162154, |

Question Number : 66 Question Id : 70819118999 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@ TH 12 6x-2=0 FNPITHR T OBl « FTF L | T, =a"~f"n = 17 IAW, (08
aj) — 2ag

qA37
3ag

Options :

70819162151.

70819162152.

-2

70819162153.

70819162154.

Question Number : 67 Question Id : 70819119000 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

L8t 1-at

The minimum value of f(x)=a" +a , wherea, x € R and a > 0, is equal to :

Options:

70819162155, & "1



70819162156.

70819162157.

2
70819162158.

Question Number : 67 Question Id : 70819119000 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fx)=a?" +al 2", T’T a,x ¢ R, TF a > 0, FANOE 18 T 27 :

Options :

a+1
70819162155.

se 1
70819162156. 5

2./a
70819162157.

2
70819162158.

Question Number : 68 Question Id : 70819119001 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

oy, 2x oy 2x

d g~ Dhe + He= 5

The integral _[ e
2 o

” - } - F .
I 5031”&1 ;02]“&4' dx, x >0, is equal to :

(where c is a constant of integration)

Options :



—a

IDBFJ.:lSI 7| +c
70819162159. '

. 2.,
70819162160, 1108l X~ +5x 7+ c

—

3
EIOB{, x2+5x 7|+ c
70819162161.

-

loge Vx2 +5x —7 + ¢

70819162162

Question Number : 68 Question Id : 70819119001 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3og,.2x 2og . 2x
g”  De t He“be
dx, x>0

C_-l]c:ng?.l‘ | 503] 0§ X ?DE]UE?I

SFALE A 2T
(T'T c OB SJFaTT F4F)

Options:
log | x*+5x—-7|+c
70819162159. '

J 2 R
70819162160, 1108l X" +5x 7t c

—

3 .,
Elf}g{,l-lm 7|+
70819162161.

loge Vx2 +5x —7 +¢

70819162162

Question Number : 69 Question Id : 70819119002 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If a, p e R are such that 1 2i (here = ~1) is a root of z2+az +$ =0, then (a — ) is equal
to:

Options :

70819162163.

70819162164.

|

70819162165.

=1

70819162166.

Question Number : 69 Question Id : 70819119002 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3 o, B e RATE 22+ az+ B=0FNSINHA 1-2i (3 2= 1) &1 T4, (O0F (o~ B) AAZ :
Options :

70819162163, 2

70819162164.

—
£

70819162165.

~]

70819162166.

Question Number : 70 Question Id : 70819119003 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the curve 12 23,3:2 intersects the line x +y=1 at two points P and Q, then the angle
subtended by the line segment PQ at the origin is :

Options :
- ey
= + tan 1|i|
2 \ '—1'/'
70819162167.
.’:T )
. tan 1| —|
2 \ —]:/'
70819162168.
. e
Z + tan lji
2 \ ?l‘/'
70819162169.
.'.'r o
e tan 11 —|
2 =
70819162170.

Question Number : 70 Question Id : 70819119003 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

qfi 12 +2y%=2 TBTHTA x +y="1 (AT 51 7 P 1% Q © (= A, (WTg PQ, (MR TR
(TS Seo| AT (FH5 29 :

Options :
—_ b
= +tan" ||
2 J
70819162167.
- 1%
2 \ '—]:/'
70819162168.

70819162169.



b tan lfl\]
L

ra| g

ra| =

70819162170.

Question Number : 71 Question Id : 70819119004 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
=2y is :

The shortest distance between the line x y=1 and the curve x2

Options :

X
2
70819162171.

1

2 '\."E

70819162172.

70819162173.

K| -

70819162174.

Question Number : 71 Question Id : 70819119004 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
x2 =2y TEHH OF x — y=1 [AUCET NG FTo 79% 29 ¢

Options :
70819162171.



v
51 =

b
245
70819162172.
70819162173.
-
2
70819162174.

Question Number : 72 Question Id : 70819119005 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

"
i i s X ¥ :
A hyperbola passes through the foci of the ellipse — j— =1 and its transverse and

conjugate axes coincide with major and minor axes of the ellipse, respectively. If the product
of their eccentricities is one, then the equation of the hyperbola is :

Options :

2

2 1
iy A
70819162175, ° 16
2 ]2
22
70819162176. :
'Iz 2
N
70819162177.
2 Lr'lzg

X
70819162178.



Question Number : 72 Question Id : 70819119005 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.
451 MA9ET %g| %g-=1 Yee ATTE A A T OF REHE T TF AGA T

O BTN THEUDM T4 5 S (9 P9 0TS i | T PrRed Yera @25/ @ 9F (1)
W, (S0% “AGaEHd A T

Options :
g W,
LIS 2N
70819162175, 2 16
i | 2
e
70819162176. :
2 2
AW o4
>
70819162177, ° 2
7 d
x<—1y=9
70819162178. &

Question Number : 73 Question Id : 70819119006 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A plane passes through the points A(1, 2, 3), B(2, 3, 1) and C(2, 4, 2). If O is the origin and
Pis (2, —1, 1), then the projection of EI’P on this plane is of length :
Options:

70819162179.

70819162180.



z
(7
70819162181.
2
’”|I_
70819162182.

Question Number : 73 Question Id : 70819119006 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q% A A(1, 2, 3), 5(2,3,1 ) 1% C(2, 4, 2) g #14 (2 37| AW O YA W= P (2, ~1,1) 2
(O TSR @¥as OP T Serwd 0l 79 -

Options:

70819162179.

70819162180.

70819162181.

70819162182.

Question Number : 74 Question Id : 70819119007 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

li 1 n n n ’
m | — 4 o i SR tf ——— | isequal to:
nein mEl)y” w2 (Zn—1)"

Options :

1
70819162183.

ka | =

70819162184.

=

70819162185.

1
4
70819162186.

Question Number : 74 Question Id : 70819119007 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

li 1 n n n .
m | — 4 = e o F———= | T Z 9
n—=ln. m+1)" @+ (2Zn—1)"
Options :

1
70819162183.

1

;
70819162184. ~

1

3
70819162185.

70819162186.



| -

Question Number : 75 Question Id : 70819119008 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[n a group of 400 people, 160 are smokers and non-vegetarian; 100 are smokers and vegetarian
and the remaining 140 are non-smokers and vegetarian. Their chances of getting a particular
chest disorder are 35%, 20% and 10% respectively. A person is chosen from the group at
random and is found to be suffering from the chest disorder. The probability that the selected
person is a smoker and non-vegeltarian is :

Options:

7
70819162187, 2

70819162188.

5|8

708191621809.

14
70819162190. 4°

Question Number : 75 Question Id : 70819119008 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

400 T TT2q (516 5T 160 T GRAWT A NF NRATIE!; 100 T YT FE TF s
F ARG 140 T (A T TF RETeEl| Feed 399 (399 (ZRE e &0 35%, 20%
WF 10% | CSTHIOMA /T T TG AR T T TF RF (7 (96 I @IS FF T AR
e 91 G AR T F THATE (ZEE S Z'T

Options :



e
£

70819162187, *°

&i| =

70819162188.

708191621809.

70819162190. 4°

Question Number : 76 Question Id : 70819119009 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let Abeasetofall -l-u:ligit natural numbers whose exactl}-' one digit is 7. Then the pmhabilit}-‘
that a randomly chosen element of A leaves remainder 2 when divided by 5 is :

Options :

70819162191.

o

70819162192.

70819162193. ~

297

70819162194.

Question Number : 76 Question Id : 70819119009 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

oq1 T A FHCA 4 WP FOTaF FeAE AZE A T GBI L WF 7 | AW 579 T FAS ST 2 9
T @ (T A T 41 TORFeCd TR 39, (T (ol (T e 3 ;

Options:
1
4
70819162191.
g
9
70819162192.
S

70819162193. ~

122

297

70819162194.

Question Number : 77 Question Id : 70819119010 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If0<x, y<wand cosx + cosy — cos(x + y) = —, then sinx + cosy is equal to :

k3| L3

Options :

M| =

70819162195.

B

70819162196.

]

70819162197.



KB

2

70819162198.

Question Number : 77 Question Id : 70819119010 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: ' 3 ’
qAM 0 < X,y < 9 cosx + cosy — cos(x +y) = - - CO sinx + cosy I+ %59

i

Options :

.

i
70819162195,

3

9
70819162196.

143
70819162197. 2

1+3
70819162198. =2

Question Number : 78 Question Id : 70819119011 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let x denote the total number of one-one functions from a set A with 3 elements to a set B
with 5 elements and y denote the total number of one-one functions from the set A to the
set A xB. Then:

Options :

2y=91x
70819162199.



I3
=
[l
I3
e |
]
o

70819162200.

y=91x
70819162201.

70819162202.

Question Number : 78 Question Id : 70819119011 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ 2A x @ AT A F U@ GLFd Fo 7 TG, TC A et (e o, Ty @ A
7 941 A xB 1@ 9@ IJ GLFF TEwq AL I, TC BT 5 T (0F (R, (90 :

Options :

Zy' =01x
70819162199.

]
=
Il
I3
]
L
o

70819162200.

y= Ol x
70819162201.

70819162202.

Question Number : 79 Question Id : 70819119012 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.f_l_\, )
— || is equal to:

o S

L‘LHL‘L‘[EL‘LT[_I[ﬁ] | L‘r.‘r.‘-:_l

Options :



56

70819162203, 2

65

33
70819162204.

65

70819162205, °°

]
A

70819162206.

Question Number : 79 Question Id : 70819119012 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

r
" Lig s 32
cosec {iflﬂ. 1['_1] F Cos ll = |—‘ A 2T
_ w2

Options :
56
70819162203, -2
65
33
70819162204.
5
70819162205, -°
75

70819162206.



Question Number : 80 Question Id : 70819119013 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The contrapositive of the statement “If you will work, you will earn money” is :

Options :

70819162207. To earn money, you need to work

20819162208. You will earn money, if you will not work

70819162209. If you will not earn money, you will not work

If vou will earn monev, vou will work
70819162210. ~ s

Question Number : 80 Question Id : 70819119013 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘“qfr sft I T, (S8 W G T A Sfeer e a3t 20T
Options :

70819162207. 51 ToTeT Seace 20e1 O F1H F149 #1941

70819162208, U O7Te ST, T S F FF

20819162200 A% TS 5F TATE TFA (S08 T FH TFEAT|

20819162210, 1 S B Seeiay i cere wfit o
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Question Number : 81 Question Id : 70819119014 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A function f is defined on [ -3, 3] as

2
Jminl x2-1]-2=x<2
3

f(x) =
=1

<|x|<3

where [x] denotes the greatest integer = x. The number of points, where fis not differentiable

in (-3, 3)is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819119014 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



[ 3, 3] SR [Tl waTe T e TS T A,

%
Jmin{x,l x°),-2=x=2

| [l] ¢ 250l =3

flx) =

3T [x] = MR A¥G WA < x | (TR (3, 3) TAAC [ FoG] ST (LTAA [T T4
73 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819119015 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[f the curve, y=y(x) represented by the solution of the differential equation
(Exyz y)dx +xdy=0, passes through the intersection of the lines, 2x -3y=1 and
3x +2y=38, then |y(1)|is equal to ____

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819119015 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

% (202~ y)d +xdy =0, SN AN TG T TEA IS y=y(x) T 2 -3y=1TF
3x +2y=8 TANUEA (A 19 (2 W, (0, [y(1)| W w |



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819119016 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of two digit numbers ‘n’, such that 3" + 7" is a multiple of 10,is .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819119016 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Afr 30+ 70, 10 T 95T STTF T (G 42 AR LS M’ 2T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 84 Question Id : 70819119017 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
x— (&% - 1)

If im—~ exists and is equal to b, then the value of a—2b is
g X
=l ax(e 1)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819119017 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

4
-, aXx - 1\| -, .
- ) e o ‘b’ T 2, (W¥a-2bITTTT

=0 ax(e®® - 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819119018 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
If the curves x=y* and xy=k cut at right angles, then (4k)° is equal to

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819119018 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

I x =y IF xy=k IF [OI3 FISA FOIH0 PA, (WY AROATTETT

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819119019 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

-

The value of _[ 3x> —3x — 6|dx -

S

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 86 Question Id : 70819119019 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
[132® —3x — 6| dx wgF=TEA T ETT

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 87 Question Id : 70819119020 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the remainder when x is divided by 4 is 3, then the remainder when (2020 + )2 is

divided by 8is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819119020 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

W x F4 (@ 78TO O 3 A, (007 (2020 + )02 F @I IRA OCAT_

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819119021 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A line T" passing through origin is perpendicular to the lines

A

— 4

lix =B84 (=142)] + @+ 2k

-3
I

A,
-

bt =(+2)i +B+2)] +2+sk

[f the co-ordinates of the point in the first octant on ‘I;" at a distance of J17 from the point
of intersection of ‘I" and ‘l;" are (a, b, c), then 18(a + b+ ¢) is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819119021 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TP QT ‘T ARG
it =@+8i+(-1+20] + @+ 2k

—%

it =@+2)i +(3+2)j+Q2+9k
TRAUEA S°/E 7| ‘] F ‘1, TAERR (RA oA /[T AR 4R ‘1) TR ST RIS
R FWISF (a, b, 0) T, 18(a+b+c) TW T _ |

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819119022 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A line is a common tangent to the circle (x —3)> +1?=9 and the parabola y?=4x. If the two
points of contact (a, b) and (¢, d) are distinct and lie in the first quadrant, then 2(a +¢) is
equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819119022 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

(x 32 +12=9 T TF 12 = 4y TRYGT A9 “FF0w qUa @41 T 51 om = & (a, b)
E (¢, d) 3T BFS AT (07, 2a+c) MW II |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 90 Question Id : 70819119023 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let a =i 4 M 3k and 54 n; - k. If the area of the parallelogram whose

- =3 i
: : . o X : :
adjacent sides are represented by the vectors a and b is 8v3 square units, then a - b is
equalto .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819119023 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@A o =i +oj +3k TF¥p =3] n; & OB T 5 o b TeEA TR AR
I O € AR 83 f @0 W, @@ 2. b WAL

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



